
PARTS CATALOG
Vol. 3.1 March, 2023

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123



Maxim 3000 II  |  Major Assembly

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



ITEM # PART # QPU DESCRIPTION COMMENT
1 10034 1 Base Assy- Impact Solid Floor

10033 Base Assy- Impact Grid Floor

10032 Cover- Floor Impact Base 20 1/2 X 40-1/2  (8 #22727 & 8 #11360)

2 See Chart 1 Front Assy- MX3

3 See Chart 3 Panel- MX3

24171 1 Hdwe- MX3 Round VP

5 22209 1 Hood- Papergrd 3 Roll Dgry

6 18681 4 Rod- Fiberglass 72

7 22191 1 Roof- Maxim 3000 II Natural

8 14959 1 Seat- Elong MX2/MX3/Trs/HT Blk

9 24173 1 Tank- MX3 II Dgry Round VP

10 22193 1 Urinal- Maxim 3000 II Dgry

11 23832 1 Shelf- For 4” Vent Pipe Dgry

12 14133 1 Vent Pipe- 4 X 63 Dgry

13 16807 1 Handle- Plastic Hover

14 13197 1 Hasp- 3/16 Rivet Hole Door

15 13199 1 Hasp- 3/16 Rivet Hole Facing

16 10891 1 Hook- Flat Coat Stnls

17 17030 2 Rivet- Avdel Black

18 18543 6 Rivet- 3/16 T Peel

19 22199 20 Rivet- 3/16 Trifix Alum Lf

20 11024 1 Rivet- #610 Aap

21 11270 4 Rivet- #68 Stnls

22 13860 25 Screw- #14 X 1- 1/2 W/Wsh Gold

23 22310 1 Spindle- Prgrd II 3 Roll Metal

24 11315 9 Washer- 3/16 Rivet Stnls

25 18098 1 Screw- #10 X 2 Pn Ph Tap Vent Pipe to Tank

24172 Instruction- MX3 II Round VP See Website

Maxim 3000 II  |  Major Assembly Parts

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



Maxim 3000 II  |  Front Assembly

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



PART # DESCRIPTION
22188 Panel- Maxim 3000 II Dgry

22175 Panel- Maxim 3000 II Frst

22176 Panel- Maxim 3000 II Grnt

22267 Panel- Maxim 3000 II Pink

22177 Panel- Maxim 3000 II Rblu

22178 Panel- Maxim 3000 II Sand

22179 Panel- Maxim 3000 II Teal

PART # DESCRIPTION
22187 Front Assy- Maxim 3000 II Dgry

22180 Front Assy- Maxim 3000 II Frst

22181 Front Assy- Maxim 3000 II Grnt

22268 Front Assy- Maxim 3000 II Pink

22182 Front Assy- Maxim 3000 II Rblu

22183 Front Assy- Maxim 3000 II Sand

22184 Front Assy- Maxim 3000 II Teal

ITEM # PART # QPU DESCRIPTION COMMENT
See Chart Front Assy- MX3

1 24229 1 Bolt- 1/4-20 X 3/4 Slot Patch

2 22190 2 Bushing- Maxim 3000 II Dr Sprg

3 22196 3 Bushing- Maxim 3000 II Dr Tube

4 22574 1 Latch- Rotary Handle W/Indictr

5 14474 1 Mirror- 4 X 6 Stnls Steel

6 20840 2 Nut- 5/16-18 Nyloc Stnls

7 14762 1 Rivet- 3/16 Ratcheting

8 22207 5 Rivet- #68 Aap Pop

9 11027 2 Rivet- #66 Alum

10 17436 3 Rivet- Avdel Silver

11 22476 1 Screw- #10 X 1” Phpn Tap Pltd

12 16808 2 Screw- 5/16- 18 X 7/8 Torx

13 22197 2 Spring- Maxim 3000 II Dr Tors

14 14764 1 T- Nut- 1/4- 20

15 22198 1 Tube- Maxim 3000 II Door 1x77

16 17130 2 Washer- 1in Id Nylon

17 22206 2 Washer- 5/16 Id Fender Stnls

18 12382 1 Washer- 1/4 Flat Stnls

19 11315 5 Washer- 3/16 Rivet Stnls

20 Facing- MX3 Hinge

21 1 Facing- MX3 Hasp

22 1 Door- MX3

23 18681 2 Rod- Fiberglass 72

Maxim 3000 II  |  Front Assembly Parts

Maxim 3000 II  |  Complete Front Assembly Maxim 3000 II  |  Panel

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



Great Lakes
Paul Jongert
763-519-6546
paulj@satelliteindustries.com

Midwest
Jeff Sprenger
763-519-6527
jsprenger@satelliteindustries.com

Northwest
John Sprenger
763-519-6544
johns@satelliteindustries.com

Northeast
Joshua Carmichael
574-350-2162
joshuac@satelliteindustries.com

Southeast
Lance Branan
763-519-6541
lanceb@satelliteindustries.com

Southwest
Tim White
763-519-6543
timw@satelliteindustries.com

South Central
Ryan Foley
763-519-6526
ryanf@satelliteindustries.com

Canada
Jerry Graves
763-519-6524
jerryg@satelliteindustries.com

International
Michael Pederson
763-551-7237
mikep@satelliteindustries.com

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123




